029-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

# PURCHASE ORDER as of Fri Oct 25 05:47:54 UTC 2024

Contract ID 381951700866	Contract Ref	
Order Number	Issue Date	Version
0008006190	2024-09-26	20241018072052

E INDUST L FARIDAL L INDIA E Region: C MOL Co N Room 24 S 88 Conta O Hong Ko L HONG K	onsolidation 406-07, 24. ainer Port, nng, Kowloo KONG KONG arehouse k West Driv fferson, Oh	on Ser /FI., To Kwai	1  rvice Ltd. ower 1, Ever G Chung, N.T	ain Plaza	N 22 S Se UN G N E E N P 22 T A Se	9-Eddie Ba 00 1st Ave s eattle, WA, 9 NITED STAT  9-Eddie Ba 00 1st Ave s eattle, WA, 9 NITED STAT	S, Suite 400 8134 ES uer LLC S, Suite 400 8134			U R 1111 S O SAR T K UNI M E Cor S R M UNI A NO. U BAI F IND	1 Bayhill [ Bruno, C TED STA' Itact: Patri - T 12 - SH 37/1B / 43 NGALORE	TÉS icia Nacion  AHI EXPORT 3/2, 43/3	0	
Incotorm					Dortiol C	nipments Pe	r Window			Transchine	monto			
Incoterm FOB - CHENI	NAI (EX M	ADRA	AS), TAMIL NAI	DU. INDIA	rai ilai Si	iipinenis re	Allowed			Transship	Henis	No		
Payment Terms	,		-77	- /	Shipping	Mode				Business	Code			
			ents Presentat	ion			SEA					0001		
Business Code			- USA		Last Rev	ision Date	2024-10-17			Supplier C	ode	100000004	10	
Department	LD KI	_ IAIL	- 03A		Order Ty	pe Code	2024-10-17			factoryCod	de	10000000	FU .	
	S PERFOR	RMAN	CE SPORTSW	/R	,		RETL					100000026	3	
domesticvendo	or				Canadia	n DC Closur	•			isUnified				
Damastic Vana	la.	False	1		A accumulation	na Cada	false			Chinmont	Mindow	true		
Domestic Vend	101	False	)		Accounti	ng Code	000M02450	)		Shipment		25-02-22 / 202	5-02-22	
Shipment Meth	nod				Country	Of Origin				Freight Pa				
		Ocear	n				INDIA					Collect -		
Line #		Bu	ıyer Item #		Short	Description			Quantit	у	U	Init Price (USI	D)	Cost (USD)
0001		02	9-1781		M R TANK:	SL MT CHA/HEA	N TREK		1,497			5.30*		7,934.10
Item Status			OPEN		De	estination			GXO Warehouse					
Ship Window St	art Date		2025-02-22		Sh	nip Window En	nd Date		2025-02-22					
Color			130		Ви	ıyer's Style #			11502208					
	Size Code	Size	UPC#	SKL	J#	Ticket Type	Qty Per Inner	Pack	PO Retail Price	Item Qty		Unit Unit Cos	Cost	
	0040	S-	197806415777	EB02917810	001300040	G		001	40.00	Item C	ty 112	5.30	593.60	
										Shipment Metho	od Ocean			
										Retail Pri	e 40.00			
	0050	M-	197806167171	EB02917810	001300050	G		001	40.00	Item C	ty 394	5.30	2,088.20	
										Shipment Metho				
										Retail Pri				
	0060	L-	197806562815	EB02917810	001300060	G		001	40.00	Item Q		5.30	2,766.60	
										Shipment Metho				
	0070	VI	407000044004	EB02917810	201200070	0		001	40.00	Retail Pri		F 20	1.750.00	
	0070	XL-	197806041884	EB02917610	001300070	G		001	40.00	Shipment Metho		5.30	1,759.60	
				<u> </u>						Retail Pri				
	0080	XXL-	197806556067	EB02917810	001300080	G		001	40.00	Item Q		5.30	726.10	
										Shipment Metho	-			
										Retail Pri	e 40.00			
									Total		1,497		7,934.10	
0002		02	9-1781		MR	SL MT	N TREK		1,497		-	5.30*		7,934.10
					TANK:	MHEAGRA								

029-Eddie Bauer LLC 2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

# PURCHASE ORDER as of Fri Oct 25 05:47:54 UTC 2024

Contract ID Contract Ref 381951700866 Order Number Issue Date Version 0008006190 2024-09-26 20241018072052

ine #		Bu	yer Item #	Sh	ort Descript	on		Quantit	ty	ι	Jnit P	rice (USD	)	Cost (USI
tem Status			OPEN		Destination			GXO Warehouse	<b>;</b>					
hip Window	Start Date		2025-02-22		Ship Window	End Date		2025-02-22						
olor			149		Buyer's Styl	#		11502208						
	Size Code	Size	UPC#	SKU#	Ticket T	pe   Qty Per Ini	ner Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0040	S-	197806504020	EB0291781001490	0040	G	001	40.00	Item Qty	112		5.30	593.60	
									Shipment Method	Ocean				
									Retail Price	40.00				
	0050	M-	197806897481	EB0291781001490	0050	G	001	40.00	Item Qty	394		5.30	2,088.20	
									Shipment Method	Ocean				
									Retail Price	40.00				
	0060	L-	197806148835	EB0291781001490	0060	G	001	40.00	Item Qty	522		5.30	2,766.60	
									Shipment Method	Ocean				
									Retail Price	40.00				
	0070	XL-	197806665929	EB0291781001490	070	G	001	40.00	Item Qty	332		5.30	1,759.60	
									Shipment Method	Ocean				
									Retail Price	40.00				
	0080	XXL-	197806627743	EB0291781001490	080	G	001	40.00	Item Qty	137		5.30	726.10	
									Shipment Method	Ocean				
									Retail Price	40.00				
								Total		1,497			7,934.10	
nn3		02	9-1781	M	R SL I	TN TRE	: K	1,496				5.30*	'	7,928.8
								.,			•			.,020.0
003		02		TA	NK:BLUE									
		02	OPEN	TA	NK:BLUE Destination			GXO Warehouse	•					
em Status	Start Date	02	OPEN 2025-02-22	TA	Destination Ship Window			2025-02-22	<u> </u>					
em Status	Start Date	02	OPEN	TA	Destination				3					
em Status hip Window	Start Date Size Code	Size	OPEN 2025-02-22	TA	Destination Ship Window	#	ner Pack	2025-02-22	Item Qty		Unit	Unit Cost	Cost	
em Status hip Window			OPEN 2025-02-22 300		Destination Ship Window Buyer's Styl	#	ner Pack	2025-02-22 11502208		112	Unit	Unit Cost	Cost 593.60	
em Status hip Window	Size Code	Size	OPEN 2025-02-22 300 <i>UPC</i> #	SKU#	Destination Ship Window Buyer's Styl	e# pe   Qty Per Ini		2025-02-22 11502208 PO Retail Price	Item Qty	-	Unit			
em Status	Size Code	Size	OPEN 2025-02-22 300 <i>UPC</i> #	SKU#	Destination Ship Window Buyer's Styl	e# pe   Qty Per Ini		2025-02-22 11502208 PO Retail Price	Item Qty Item Qty	-	Unit			
em Status	Size Code	Size	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU#	Destination Ship Window Buyer's Styl  Ticket Ty 0040	e# pe   Qty Per Ini		2025-02-22 11502208 PO Retail Price	Item Qty Item Qty Shipment Method	Ocean	Unit	5.30		
em Status hip Window	Size Code 0040	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU# EB0291781003000	Destination Ship Window Buyer's Styl  Ticket Ty 0040	pe   Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price	Ocean 40.00 394	Unit	5.30	593.60	
em Status	Size Code 0040	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU# EB0291781003000	Destination Ship Window Buyer's Styl  Ticket Ty 0040	pe   Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty	Ocean 40.00 394	Unit	5.30	593.60	
em Status	Size Code 0040	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU # EB0291781003000	Destination Ship Windor Buyer's Styl  Ticket Ty  0040	pe   Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 40.00 394 Ocean	Unit	5.30	593.60	
em Status	Size Code 0040 0050	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU # EB0291781003000	Destination Ship Windor Buyer's Styl  Ticket Ty  0040	pe Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 40.00 394 Ocean 40.00 522	Unit	5.30	593.60 2,088.20	
em Status Ship Window	Size Code 0040 0050	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537	SKU # EB0291781003000	Destination Ship Windor Buyer's Styl  Ticket Ty  0040	pe Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty	Ocean 40.00 394 Ocean 40.00 522	Unit	5.30	593.60 2,088.20	
em Status Ship Window	Size Code 0040 0050	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969	SKU # EB0291781003000	Destination Ship Windon Buyer's Styl  Ticket Ty  0040  0050	pe Qty Per Ini	001	2025-02-22 11502208 PO Retail Price 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 40.00 394 Ocean 40.00 522 Ocean	Unit	5.30	593.60 2,088.20	
em Status Ship Window	Size Code 0040 0050	Size S- M-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969	SKU# EB0291781003000 EB0291781003000	Destination Ship Windon Buyer's Styl  Ticket Ty  0040  0050	G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331	Unit	5.30	2,088.20	
tem Status Ship Window	Size Code 0040 0050	Size S- M-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969	SKU# EB0291781003000 EB0291781003000	Destination Ship Windon Buyer's Styl  Ticket Ty  0040  0050	G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331	Unit	5.30	2,088.20	
em Status Ship Window	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969 197806075605	SKU# EB0291781003000 EB0291781003000	Destination Ship Windox Buyer's Styl  Ticket Ty  0040  0050  0060	G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean	Unit	5.30	2,088.20	
em Status Ship Window	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969 197806075605	SKU# EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Windox Buyer's Styl  Ticket Ty  0040  0050  0060	G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137	Unit	5.30 5.30 5.30	2,088.20	
tem Status Ship Window	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969 197806075605	SKU# EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Windox Buyer's Styl  Ticket Ty  0040  0050  0060	G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137 Ocean	Unit	5.30 5.30 5.30	2,088.20	
tem Status Ship Window	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969 197806075605	SKU# EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Windox Buyer's Styl  Ticket Ty  0040  0050  0060	G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137 Ocean		5.30 5.30 5.30	2,088.20	
em Status Ship Window : Color	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 <i>UPC</i> # 197806190537 197806054969 197806075605	SKU # EB0291781003000 EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Window Buyer's Styl  Ticket Ty  0040  0050  0060  0070  T SL	G G G G G G G G G G G G G G G G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00 40.00 40.00	Item Qty Item Qty Shipment Method Retail Price Item Qty Shipment Method	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137 Ocean 40.00		5.30 5.30 5.30	2,088.20 2,766.60 1,754.30	1,258.8
tem Status Ship Window : Color	Size Code 0040 0050 0060	Size S-	OPEN 2025-02-22 300 UPC # 197806190537 197806054969 197806075605 197806079139	SKU # EB0291781003000 EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Windon Buyer's Styl  Ticket Ty  0040  0050  0070  0080	G G G G G G G G G G G G G G G G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00 40.00 40.00 Total	Item Qty Item Qty Shipment Method Retail Price	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137 Ocean 40.00		5.30 5.30 5.30 5.30	2,088.20 2,766.60 1,754.30	1,258.8
tem Status Ship Window Color  004  tem Status	0040 0050 0060 0070	Size S-	OPEN 2025-02-22 300  UPC # 197806190537  197806054969  197806075605  197806079139  197806212574	SKU # EB0291781003000 EB0291781003000 EB0291781003000 EB0291781003000	Destination Ship Window Buyer's Styl  Ticket Ty  0040  0050  0060  0070  0080  T SL NK:CHA/HE	G G G G G G G G G G G G G G G G G G G	001	2025-02-22 11502208 PO Retail Price 40.00 40.00 40.00 40.00 Total	Item Qty Item Qty Shipment Method Retail Price	Ocean 40.00 394 Ocean 40.00 522 Ocean 40.00 331 Ocean 40.00 137 Ocean 40.00		5.30 5.30 5.30 5.30	2,088.20 2,766.60 1,754.30	1,258.8

## 029-Eddie Bauer LLC

2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

# PURCHASE ORDER as of Fri Oct 25 05:47:54 UTC 2024

Contract ID 381951700866	Contract Ref	
Order Number	Issue Date	Version
0008006190	2024-09-26	20241018072052

Line #		Bu	yer Item #		Short I	Description			Quantit	у	Unit Price (USD)				
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0060	L-	197806833472	EB0291845001	300060	G		001	40.00	Item Qty	122		5.57	679.54	
										Shipment Method	Ocean				
										Retail Price	40.00				
	0070	XL-	197806638978	EB0291845001	300070	G		001	40.00	Item Qty	104		5.57	579.28	
										Shipment Method	Ocean				
										Retail Price	40.00				
									Total		226	İ		1,258.82	
0005		02	9-1845	-	M T TANK:	SL MT MHEAGRA			226				5.57*		1,258.8
Item Status			OPEN		De	estination			GXO Warehouse						
Ship Window S	Start Date		2025-02-22		Sh	ip Window E	nd Date		2025-02-22						
Color			149		Bu	yer's Style #			11502208						
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner I	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0060	L-	197806072635	EB0291845001	490060	G		001	40.00	Item Qty	122		5.57	679.54	
										Shipment Method	Ocean				
										Retail Price	40.00				
	0070	XL-	197806697807	EB0291845001	490070	G		001	40.00	Item Qty	104		5.57	579.28	
										Shipment Method	Ocean				
										Retail Price	40.00				
									Total		226			1,258.82	
0006		02	9-1845		M T TANK:	SL MT BLUE	N TREK		227			:	5.57*		1,264.3
Item Status			OPEN		De	stination			GXO Warehouse						
Ship Window S	Start Date		2025-02-22		Sh	ip Window E	nd Date		2025-02-22						
Color			300		Bu	yer's Style #			11502208						
	Size Code	Size	UPC#	SKU#		Ticket Type	Qty Per Inner	Pack	PO Retail Price	Item Qty		Unit	Unit Cost	Cost	
	0060	L-	197806868313	EB0291845003	000060	G		001	40.00	Item Qty	122		5.57	679.54	
										Shipment Method	Ocean				
										Retail Price	40.00				
	0070	XL-	197806981630	EB0291845003	000070	G		001	40.00	Item Qty	105		5.57	584.85	
										Shipment Method	Ocean				
										Retail Price	40.00				

\* Represents Subline Average

Totals

Merchandise Amount	27,579.03
Total Adjustment	0.00
Total Taxes	0.00
Order Total	27,579.03

Required Documents

Commercial Invoice

Transport Manifest - completed by Consolidator (LSP).

Goods Receipt

Document, Packing Slip, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

Document, Certificate of Origin, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, FCR for Ocean Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Airway Bill of Lading for Air Shipments, requires an Acknowledgement from the Seller. (Notes - Scan and attach where applicable)

Document, Importer General Conformity Assessment Certificate, requires an Acknowledgement from the Seller. (Notes - Scan and attach)

This document is a summary and does not contain all the terms and conditions applicable to the transaction. The complete document may be accessed on the system.

### 029-Eddie Bauer LLC

2200 1st Ave S, Suite 400 Seattle, WA, 98134 UNITED STATES Department: 029 Region: 10

## PURCHASE ORDER as of Fri Oct 25 05:47:54 UTC 2024

Contract ID 381951700866	Contract Ref	
Order Number	Issue Date	Version
0008006190	2024-09-26	20241018072052

### Additional Terms

Seller will be required to certify that it has obtained all applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, and other documentation to permit the exportation of the merchandise from the country from which the merchandise will be shipped in compliance with all applicable laws and regulations of the country of exportation. Seller also certifies that it or its designated agent will obtain and provide all of the applicable authorizations, approvals, licenses, quotas, visas, certificates of origin, other documentation, and information required to permit importation of the merchandise into the destination country in compliance with all applicable laws and regulations in the importing country.

(Acknowledgement required on each invoice)

Seller

(Acknowledgement required on each invoice)

All Orders are subject to the terms of the executed vendor agreement, which may include certain discounts. All discounts agreed to will be referenced on the commercial invoice and reflect a certain percentage discount off of Product Price for Products tendered to Eddie Bauer LLC incensees.

(Acknowledgement required on each invoice)